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Part A

Section Id : 920906319
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906520
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090616097 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

frefefiad wams + SFYEs Tgt 99l & I i -

3 wdi-adl Hitd witg A W g,
i ® S FHe g9 I &
92 Wl 1§ A B IEFT M,
T, 39T E G gHEAl AT 8§
fema d gan 5301, |ee, Hie- Al
qTeT U1, Hi5 59 feea staar o
9 df @&d 8 He, R, T % Wi
I8 Foea< 84 8 off sg= At o
=M faft Wo3E 3 7 Ion 6.,
31 T oft &l 019 B wedt 27
i@l % 3 74 % He Fa1 I,
F8 "ra-ong g 9w gv & 2|
Sub questions
Question Number : 1 Question Id : 92090616098 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 W5 1 994 shitae e o Eer g @ -

(1) =hedld~d (2) 943
(3) @ (4) ¥
Options :

92090663601. 1
92090663602. 2
92090663603. 3
92090663604. 4

Question Number : 2 Question Id : 92090616099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR % HTHN W A feeg 3gant a1 -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090663605. 1
92090663606. 2
92090663607. 3
92090663608. 4

Question Number : 3 Question Id : 92090616100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =/

(3) @14

(4) g

Options :

92090663609. 1
92090663610. 2
92090663611. 3
92090663612. 4

Question Number : 4 Question Id : 92090616101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T H U W A &1 faem wee 2o -

(1) ™=
(2) 4=«
(3) =
(4) W&
Options :

92090663613. 1
92090663614. 2
92090663615. 3
92090663616. 4

Question Number : S Question Id : 92090616102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qH d 8 B,

I STl 1 TR 6 HATYW T HH H e -
(A) I8 Fog< g9 8 Wt sge I

(B) W T & gt

(C)  Ia AT ot el W B whdt ?

(D) = farht wo3m 3 <t Ion =

(B) %o "r=-gug g = 9v =@ 2

A feu o fashedi § | |E I F 95 it ¢
(1) (B), (A), (C), (D)3 (E)
(2)  (B),(A), (E), (C)F (D)
(3)  (B), (A), (D), (C)F (E)
(4)  (B), (A), (E), (C)= (D)

Options :
92090663617. 1



92090663618. 2
92090663619. 3
92090663620. 4

Question Id : 92090616097 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

fFreferfia T +i eHYEs Tet 99l & I gt -

9 991-991 Hid g | il 7,
Ut § FE A g& I 8|
98 Wl H o 7Y IHH I,
AL, AT & T FEAT AT 8
fema o g B30, B, Hie- A
gTeT% o1, HI5 Y fesr smEand 9
a9 d1 *&d 8 He, W, ¥ % i
98 Fad 89 § of gg A o1
g fagft wogm 3 & gow T,
31 AT i FET {4 & FEwd 2 e
@l & 3ATg 749 % He a1 T,
8 Ta-a9g g 9= 99 @ 2

Sub questions

Question Number : 1 Question Id : 92090616098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS H H 39 e I 994 shitag foamen 1o S g # -

(1) = (2) T4
(3) F@ (4) A
Options :

92090663601. 1
92090663602. 2
92090663603. 3
92090663604. 4



Question Number : 2 Question Id : 92090616099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T % YR W HH fosg sEan o -

(A) I I
(B) ®Te®
(C) =9
(D) HeAEA
(B) =

Fra feu Tu fashedi § ¥ TEH ITgE IT H FI4 HIfAC
(1) % (A)F (B)
(2) Haa (C) T (D)

(3) I (E)
(4)  HaA (O)
Options :

92090663605. 1
92090663606. 2
92090663607. 3
92090663608. 4

Question Number : 3 Question Id : 92090616100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fema § =19 gan g3 o1 -
(1) e, WeT-9Tel Sersh
(2) =

(3) @14

(4) g

Options :

92090663609. 1
92090663610. 2
92090663611. 3
92090663612. 4



Question Number : 4 Question Id : 92090616101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gerTel § 370 viee ‘O &1 ey wree B -

(1) ™=
(2) e
(3) @
(4) T&H
Options :

92090663613. 1
92090663614. 2
92090663615. 3
92090663616. 4

Question Number : 5 Question Id : 92090616102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qH @l &d Bl ",

I TR I TR % HTYW W SH H e -
(A) W8 warE g9 8 ot Fee A e
(B) ®H 54 % Him
(C)  3aa1 ATt ot HEf W B Hepell B
D) o= fart wogm 3 S Jon v
(B) F9 dra-aus foregn = 99 @@ 2
W feu e fapedi # | | I F1 97 i
(1) (B), (A, (C), (D) (E)
(2)  (B). (A), (E), (O)3F (D)
(3)  (B), (A), (D), (C)F(E)
(4)  (B), (A), (E), (C)F (D)
Options :

92090663617. 1
92090663618. 2
92090663619. 3
92090663620. 4

Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :
Is Section Default? :

2
920906521
Yes

null

Question Number : 6 Question Id : 92090616103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frefafiga 4 8 Ffefza am fRafea St

(1) 39 gmar i feeeht @4 8
(3)  Imeht uren ft feeeft o @t €1

(2) IHeht TTaT St feoett =4 21
(4) 35k Tren Sft feeeht O @4 2



Options :

92090663621. 1
92090663622. 2
92090663623. 3
92090663624. 4

Question Number : 6 Question Id : 92090616103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frefefaa % | gfefza am fafea Fifsw:

(1) 35 °rar S feeett B4 81 (2) Fmeh! O S feoedt w®a 21
(3) 3Tt gray it feeett § @& 21 (4) F&eh graT 1 feeett § & B
Options :

92090663621. 1
92090663622. 2
92090663623. 3
92090663624. 4

Question Number : 7 Question Id : 92090616104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090663625. 1
92090663626. 2
92090663627. 3
92090663628. 4

Question Number : 7 Question Id : 92090616104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



frafafiga ameT #i @& w9 |

(A)  gHifere adae 7 i Al 7 wad @
(B) TE-TE % U I4 Hre=el 2

(C)  SA-=1 usg 1 HETHA agdl Al B
(D) @t TU-AT IFrfersh Ed &

(B) -7 v 3wht g % fer

Fr= feu v fasredi ® 9 |81 I &1 954 FIfS
1) (B, (B), (D), (A) 3 ()
2 (B). (0), (A), (D) 3 (E)
(3) (). (B), (B), (C) 3T (D)
@) (0. (B), (B), (D) 3 (A)

Options :

92090663625. 1
92090663626. 2
92090663627. 3
92090663628. 4

Question Number : 8 Question Id : 92090616105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 % Ty g=A-11 1 frem Hifs

g1 g=fi-11
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) g T HaR (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :

92090663629. 1
92090663630. 2
92090663631. 3
92090663632. 4

Question Number : 8 Question Id : 92090616105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1 & = g1 1 frem Hifse
g1 g1
A Fenmdfwaas () =ggE
(B) i arhd & () HgHIR
(C) <% 4| Hg arel (I11) Femsie
(D) ®TE T HaN (IV) W&

H= feu v fompedi ® & AE I &1 999 Sifau .

(1) (A)-(IV), (B)-(I1D), (C)-(1I), (D)-(T)
@)  (A)-ID, (B)-(I), (C)-(III), (D)-AV)
(3)  (A)-1), (B)-1V), (C)-(D), (D)-(1T)
4 A)-D, (B)-1I), (C)-1V), (D)-(ILD)

Options :



92090663629. 1
92090663630. 2
92090663631. 3
92090663632. 4

Question Number : 9 Question Id : 92090616106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gei1-1 & |g g=Hi-11 %1 frem Fif
-1 H=1-11
(A) FEA () 9
(B) == (II) g+
(C) &+ (I11) gferpen
(D) FFE| (IV) =

dr= feu o faemegi © ¥ B I+ 994 Fifdu

(1) (A)-(IV), (B)-(D). (C)-(T), (D)~(I1I)
(2)  (A)-(D), (B)-(IV), (O)-D), (D)-(D)
(3)  (A)-dI), (B)-(ID), (C)-(IV), (D)D)
(4)  (A)-(D), (B)-(ID), (C)-AV), (D)-(11)

Options :

92090663633. 1
92090663634. 2
92090663635. 3
92090663636. 4

Question Number : 9 Question Id : 92090616106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g=1-1 % @y g=i-11 %1 fgem $ife .

Tt-1 g=i-11
(A) FEA () i
(B) 3 (IT) e
(© &M (I11) Sfeiget
D) w=A (IV) =@

dr= feu 7o fa=eTi © 9 B I w1 994 Fifew

() (A)-V), B)-(ID), (O)-(D), (D)-(ILI)
(2)  (A)-(IID, (B)-(IV), (C)-(1D), (D)-(I)
(3) A1), (B)-(1), (C)-(IV), (D)-(D)
(4)  (A)-D), (B)-(ID), (C)-(AV), (D)-(11])

Options :

92090663633. 1
92090663634. 2
92090663635. 3
92090663636. 4

Question Number : 10 Question Id : 92090616107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frefafaa § @ denifE #1 v

(A) ©El 1 FE T R A G H

B)  Fu =t sem um

(€) 3 % =g A3H

(D) HAR % @MY 5= | g o1 2

e feu e kel § | |8 I F1 95 A
(1) (A JR(B)

2  (B) 3R (D)

3 (B)3M(C)

(4 ()3 (D)

Options :



92090663637. 1
92090663638. 2
92090663639. 3
92090663640. 4

Question Number : 10 Question Id : 92090616107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
frafafaa 4 & e 1 wwaH
(A) 9Tt 1 FA T W FH T GR H
(B) 3o Ra=st sem e
(C) 3 F =re e
(D) 37 % |y g1 i frg e 2
Hr= feu o fasedi § | |8 I #5197 i .
(1) (&) 3R (B)

2 (B) 3R (D)
3) (B) 3R (C)
(1)  (C) 3 (D)

Options :

92090663637. 1
92090663638. 2
92090663639. 3
92090663640. 4

Question Number : 11 Question Id : 92090616108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU |1 § T forad A1 99 Fufea e W 99e & |ee 1 Headl 919 & JRAf 7

(1) 30fe (2) 60 fam
(3) 90 fe (4) 120 f&=
Options :

92090663641. 1
92090663642. 2



92090663643. 3
92090663644. 4

Question Number : 11 Question Id : 92090616108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU w1 § i forar i 9% 3ofRm e W 99e % 9o &1 9eEd 9uTd & S 7

(1) 30f= (2) 60 f&=
(3) 90 f&@ (4) 120 fe=
Options :

92090663641. 1
92090663642 2
92090663643. 3
92090663644. 4

Question Number : 12 Question Id : 92090616109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87

(1) 1694 (2) 20 318
(3) 20w (4) 20 34
Options :

92090663645. 1
92090663646. 2
92090663647. 3
92090663648. 4

Question Number : 12 Question Id : 92090616109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferea diam (Aeiersh) feam < w9m@ ST 87
(1) 16 9 (2) 20 3=
(3) 20m8 (4) 20 3nra

Options :



92090663645. 1
92090663646. 2
92090663647. 3
92090663648. 4

Question Number : 13 Question Id : 92090616110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R § e e § avaad I g3 e

(1) = giwag (2) ©E% ATE FHEm
(3) AT\ FW (4) HTeA-U-HATTH
Options :

92090663649. 1
92090663650. 2
92090663651. 3
92090663652. 4

Question Number : 13 Question Id : 92090616110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9Td H T fhed 8 9weEs IR g3 7

(1) T EiwEs (2) ©E® HATE FON
(3) H&H HAM (4) HTeA-U-HATTH
Options :

92090663649. 1
92090663650. 2
92090663651. 3
92090663652. 4

Question Number : 14 Question Id : 92090616111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T = 30 FEl T= i TEaH hIae (o [g%g U9, 00,377, 9aH TG0 2l 2|

(1) @&, T, Fael (2) oAt TG, T&el
(3) e, Fumm, f&@E (4) @|U, Tagan, f#E
Options :

92090663653. 1
92090663654. 2
92090663655. 3
92090663656. 4

Question Number : 14 Question Id : 92090616111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TN & 39 T =9 I Tg9H Hifae 9 f9%g 19.10.37, J96H 390 26t 2

(1) @0, TEgHA1, Sl (2) TelfE, TG, &l
(3) weifen, Famw, &g (4) @&, Tergan, s
Options :

92090663653. 1
92090663654. 2
92090663655. 3
92090663656. 4

Question Number : 15 Question Id : 92090616112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 W @ i | TEen @ SuEed g e 87

(1) =it (2) Higreh
(3) wES (4) g9
Options :

92090663657. 1
92090663658. 2
92090663659. 3
92090663660. 4



Question Number : 15 Question Id : 92090616112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
form R 1 Rty @ 3 vEen @ wuErer wnfia fe e

(1) ieihmr (2) wiget
(3) ©ETH (4) Fomax
Options :

92090663657. 1
92090663658. 2
92090663659. 3
92090663660. 4

Question Number : 16 Question Id : 92090616113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Feferfaa g@en 4 el Je sany

21, 35, 53, 76

(1) 105 (2) 109

(3) 101 (4) 99
Options :

92090663661. 1
92090663662. 2
92090663663. 3
92090663664. 4

Question Number : 16 Question Id : 92090616113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21, 35, 53, 75

(1) 105 (Z) 109

(3) 101 (4) 99
Options :

92090663661. 1



92090663662. 2
92090663663. 3
92090663664. 4

Question Number : 17 Question Id : 92090616114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa @ 9 v w5 3 7 ey fog ™ €1 o9 % amar s fewai &1 g9dieo

FY : A1 A= va ot Sl 1 v gaEt 21
e

(i) e 3 St S % @ 5= E)

(ii) AT T 1S q1S TE B

(i) HHT =1 U Hidenl 915 &l

(1) =a (i) AP &1 81 (2) a (i) T E@T Bl
(3) e (i) I (iii) SFL BT 2 (4) SH | IS AV A Bl
Options :

92090663665. 1
92090663666. 2
92090663667. 3
92090663668. 4

Question Number : 17 Question Id : 92090616114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frafafaa g 4 v 5w 3 &7 g fog ™ 81 o9 & anar w1 fewat &1 g9dieo

FUA : 1 FH v diad] el 6 uhEaE g gl
e

(i) Hmm 3 S Sl 2 e 2

(ii) T T g qE TE B

(i) HHT T T Hider |5 8l

(1) ae (i) @FL & 21 (2) ad (ii) L EMT 2
(3) hae (i) 3N (iii) AR BT 2| (4) A9 © I3 AV & il 2|
Options :

92090663665. 1
92090663666. 2
92090663667. 3
92090663668. 4

Question Number : 18 Question Id : 92090616115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafifigd w9 5 I 3 @-9RT § g & [EUROHl % AHR W awed W faEn
#Frfory 2R = fou T fameti O wd fawen @1 = Hifsm)

IheA : U SgUd HE1 A 99 @l gicedl i gl H FEAI-TE T A % T Fere W
Tt 9= o 2

-

() =i FHAIRET % U W W Fee glaut 21

(i) TS FHANET 4 Teel Yieedl Hi AT Bl §eHE IR G-I, HI T @i 91|
(1) e (i) & wep-ed 2

(2) e (i) @ wepI-Tfed 2

(3) A4 () A E (i) TH-Ued B

(4) @HT () 3 (i) wehr-Tfeq 2

Options :
92090663669. 1

(W%



92090663670. 2
92090663671. 3
92090663672. 4

Question Number : 18 Question Id : 92090616115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ffcifigd w9 5 I 3N @-9R0T & 8 8 [EUROHA] % HHR W awed W aEn
#hifore 3R = feu o fomeui & =& fawew 1 === Hifam)

Iehed : U FgUsid HHH1 3 99 I gidedi Hl gl F EAT-92 T H % T8 FeHE T
CEUSIRI eI

tﬁ-m:

(i) =t FH=EIRET % 99 9 W See giaur 2|

(ii) fereRTY F=TET 4 TEd gieedl 6 gl $1 e I gEA1-12, g1 W @l 91|
(1)  =had (i) & wH-1Ea 2l

(2) e (i) & IR-Ted 2

(3) F4r () 3 E (1) TE-1Ed 2

(4) M (i) 3R (i) TPT-Tfe E

Options :

92090663669. 1

92090663670. 2

92090663671. 3
92090663672. 4

Question Number : 19 Question Id : 92090616116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHF I VEIVHE IS TEIRF 0T SBI VH T W S 5F Y &I VH Y H e
=Y 27

(1)  wdrsit (2) 9l
(3) dE-TYg (4) qF-99
Options :

92090663673. 1
92090663674. 2



92090663675. 3
92090663676. 4

Question Number : 19 Question Id : 92090616116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RHFTTH VEI VR AE TEIRFI A SEI VH T WEI ST 91 YEI VH Y H el
A B ?

(1) st (2) it
(3) dE-TY (4) qa-9Y
Options :

92090663673. 1
92090663674. 2
92090663675. 3
92090663676. 4

Question Number : 20 Question Id : 92090616117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T2 TALlhAl T Ufth H o4l &1 HHe 919 H g9d FIH T AR 900 g § Fad &6 W
=31 81 39 TF1 o &9 gH TSihal 93l &| Fol foha- e(hdl Jiad H =l 87

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090663677. 1
92090663678. 2
92090663679. 3
92090663680. 4

Question Number : 20 Question Id : 92090616117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



F9 @elRAl UH Uit § o431 | HHen 919 § gHd TH T AR i g § we ©H W
a3t 81 3 ST % &9 ¢F @iSfRAl adl £ Fel feha-l oigfehal ufed § adi 27

(1) 18 2) 27
(3) 28 (4) 29
Options :

92090663677. 1
92090663678. 2
92090663679. 3
92090663680. 4

Question Number : 21 Question Id : 92090616118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K @ fom ol & feru fgema e 20 - Ko+ K =0 % 6l 99 8017

(1) 8,4 (2) 4,4
(3) 0, 4 4y 0.8
Options :

92090663681. 1
92090663682. 2
92090663683. 3
92090663684. 4

Question Number : 21 Question Id : 92090616118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K % T w1 % foru fgema |t 20 - K+ K =0 % 961 99 811 7

(1) 8,4 (2) 4.4
(3) 0, 4 (4) 0.8
Options :

92090663681. 1
92090663682. 2
92090663683. 3
92090663684. 4

Question Number : 22 Question Id : 92090616119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U JEas i 100 Uil @1 % ged 3 s i 60 ufadi & fashd gew % aue 2| oy
71 g1+ =1 gfdea 2 -

o

(D Gﬁ%% @) fﬁé%
(3) 67% (4) 66%
Options :

92090663685. 1
92090663686. 2
92090663687. 3
92090663688. 4

Question Number : 22 Question Id : 92090616119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U Tk i 100 WiaE &1 w9 god 36 gEas i 60 gfadl & fasa gew % suet 81 oy
71 g1+ o1 Sfdera & -

2
1 66—="% 2 6710
) 3 (2) =
(3) 67% (4) 66%
Options :

92090663685. 1
92090663686. 2
92090663687. 3
92090663688. 4

Question Number : 23 Question Id : 92090616120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090663689. 1
92090663690. 2
92090663691. 3
92090663692. 4

Question Number : 23 Question Id : 92090616120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, B, C 3R D U% 9EREM JF *d 81 ‘A’ Fa TN & U (928 9 1 JieH T 8, B
U II91E 9P H AEH AT 8, ‘O TH-qrEd 9 H1 IFEE Ha g AT 39 qeE D
FAAT &1 9 39 919 W HENd Bid 8 b d 379 gt & 39e o € oy o | i s oy
%.6,000 & & 384 D’ &1 907 feheaAT 27

(1) T2.000 (2) T1,600
(3) T 1.200 (4) ¥ 1,300
Options :

92090663689. 1
92090663690. 2
92090663691. 3
92090663692. 4

Question Number : 24 Question Id : 92090616121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I P H Q@ 40 ToF1 /= i 7fa & 96 Far & 37 a"E P A% A9 T 50% STt
witedr &1 Y AT | 39kl 3fTEd i R 27

(1) 36 T /e (2) 45 Tt f7a
(3) 48 forfi faar (4) 50 foprft /e
Options :



92090663693. 1
92090663694. 2
92090663695. 3
92090663696. 4

Question Number : 24 Question Id : 92090616121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 P E Q% 40 TFft/=er it fa & arn +2ar & 37 999 P 9% 31941 1 50% T2
witear 1 Tt Amn | 3t 3itaa i R 27

(1) 36 Tt /ga (2) 45 Tt /=
(3) 48 fodt/ga (4) 50 Tt /gen
Options :

92090663693. 1
92090663694. 2
92090663695. 3
92090663696. 4

Question Number : 25 Question Id : 92090616122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ey ‘A’ 3R B Tt Fve = w4 fime 3 6 fime O wiw €1 afe s gF el w6
aii-ail ¥ vEh-us e % fou sem 9 (99 A 1 9 IoE Il 8) 91 U8 H W
T foha-T Tag e ?

(1) 4 fiFe 48 ¥s (2) 3 fime 20 ¥Fs
(3) 4 Fme 50 o= (4) 3 fme 30 9es
Options :

92090663697. 1
92090663698. 2
92090663699. 3
92090663700. 4

Question Number : 25 Question Id : 92090616122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3 Uy ‘A’ 3R B Tt Fve @ w4 faee 3R 6 fime @ w21 afe g | wiedl &
AHI-FH | TH-Th He & fole Teme A1 (59 ‘A’ I 9gcl 9eldl 9l €) @l HU i 9=
T fere wma @y

(1) 4 foe 48 T5s (2) 3 fiFe 20 TFs
(3) 4 fime 50 B (4) 3 fime 30 des
Options :

92090663697. 1
92090663698. 2
92090663699. 3
92090663700. 4

Part B: Anthropology
Section Id : 920906320
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75
Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906522
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 26 Question Id : 92090616123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was entrusted with the task of preparing the Anthropological part of the
Census report 1929,

(1) Mead (2) Sarkar
(3) Risley (4) Guha
Options :

92090663701. 1



92090663702. 2
92090663703. 3
92090663704. 4

Question Number : 26 Question Id : 92090616123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafaa 7 9 58 s RaiE 1929 &1 A4 A gt 4rT SaR &33 &1 $1 4R 9

TR YT
(1y 8 () WHR
3) f (4) T
Options :

92090663701. 1
92090663702. 2
92090663703. 3
92090663704. 4

Question Number : 27 Question Id : 92090616124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a sub-branch of Social Anthropology?

(1) Economic Anthropology (2) Physical Anthropology
(3)  Psychological Anthropology (4) Political Anthropology
Options :

92090663705. 1
92090663706. 2
92090663707. 3
92090663708. 4

Question Number : 27 Question Id : 92090616124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fofifad # 9 $F gmifore AFafasE & SUYRa 78l 82

(1) onfde Ae fagm 2) +ifas ArFag fage
(3) WA AH4 fagE (4) ISP AFE fagE
Options :

92090663705. 1
92090663706. 2
92090663707. 3
92090663708. 4

Question Number : 28 Question Id : 92090616125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chaleolithic cultural site is located in Pakistan.

(1) Mohenjo-daro (2) Sohan

(3) Langhnaj (4) Burzahom
Options :

92090663709. 1
92090663710. 2
92090663711. 3
92090663712. 4

Question Number : 28 Question Id : 92090616125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

49 T ¥ DI 9T dTHYTST0] STl Fipiad id Ul § sfafeud 82

(1) Higaql 38l ) dred
3) @i @) daieH
Options :

92090663709. 1
92090663710. 2
92090663711. 3
92090663712. 4



Question Number : 29 Question Id : 92090616126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The credit of classifying Indian people on the scientific basis of anthropometric
measurements for the first time goes to

(1) Haddon (2) Sarkar
(3) Risley (4) Guha
Options :

92090663713. 1
92090663714. 2
92090663715. 3
92090663716. 4

Question Number : 29 Question Id : 92090616126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHfaHTE & dFE SMUR R YR & 9auyd Fiffeor &1 99 g 7 § 69 S g2

(1) ©gs8H 2) IR
3) R (4) gl
Options :

92090663713. 1
92090663714. 2
92090663715. 3
92090663716. 4

Question Number : 30 Question Id : 92090616127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following polymorphisms is based on restriction enzymes?

(1) SNP (2) CNV
(3) RFLP (4) VNTRs
Options :

92090663717. 1
92090663718. 2
92090663719. 3



92090663720. 4

Question Number : 30 Question Id : 92090616127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafifad # @ o1 9 sgEuar ufdeyd T=gd W S1yiid 82

(m SNP (2) CNV
(3)  RELP (4) VNTRs
Options :

92090663717. 1
92090663718. 2
92090663719. 3
92090663720. 4

Question Number : 31 Question Id : 92090616128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Germplasm Theory was given by

(1) Buffon (2) Lamarck
(3) Durkheim (4) Weismann
Options :

92090663721. 1
92090663722. 2
92090663723. 3
92090663724. 4

Question Number : 31 Question Id : 92090616128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WHHed fgid g ° 9 fea= foar ure

(1) gBH (2) WD
(3) gusH (4) dEEHH
Options :

92090663721. 1



92090663722. 2
92090663723. 3
92090663724. 4

Question Number : 32 Question Id : 92090616129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Patau’s syndrome is caused by

(1) Trisomy 13 (2) Trisomy 18
(3) Trisomy 21 (4) Trisomy 11
Options :

92090663725. 1
92090663726. 2
92090663727. 3
92090663728. 4

Question Number : 32 Question Id : 92090616129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UeTs; Saar g § A fus SRS &2

(1)  UDMEUIT 13 (2) UBIEYAT 18
(3)  UDIUGA 21 (4) UBIMERGATT 11
Options :

92090663725. 1
92090663726. 2
92090663727. 3
92090663728. 4

Question Number : 33 Question Id : 92090616130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characterstic feature of a dicentric chromosome 1s the presence of

(1) Multiple translocations (2) Several barr bodies
(3) Two centromeres (4) Pericentric inversion at two locations
Options :

92090663729. 1
92090663730. 2
92090663731. 3
92090663732. 4

Question Number : 33 Question Id : 92090616130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fg-dal Turga &1 ARy e B | 9 et Iufeufa gidl 82

(1) &8 ¥FAR (2) - F IR fus
(3) GIYEFdx (4) TR W gidgl uiddama
Options :

92090663729. 1
92090663730. 2
92090663731. 3
92090663732. 4

Question Number : 34 Question Id : 92090616131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MN blood group system is

(1) Co-dominant system (2) X-linked dominant
(3) X-linked recessive (4) Sex limited trait
Options :

92090663733. 1
92090663734. 2
92090663735. 3
92090663736. 4



Question Number : 34 Question Id : 92090616131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH U o THE WomTel 19 3 3 3491 82

(1) HeuHTd! yomet 2) X-feiers yurdt
3) X-Figs syt (4) Tem difa 99w
Options :

92090663733. 1
92090663734. 2
92090663735. 3
92090663736. 4

Question Number : 35 Question Id : 92090616132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In human population genetics, maternal lineages can be traced through

(1) Holandric genes (2) Y-linked genes
(3) Cytoplasmic DNA (4) Mitochondrial DNA
Options :

92090663737. 1
92090663738. 2
92090663739. 3
92090663740. 4

Question Number : 35 Question Id : 92090616132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A4 SRS SAfRIe! # ATgaR U &1 g & A fyd H1erd 9 udl @l S Yl 82

(1) graifgs o= ) y-igs &=
3) SR 4) GFRUHISITAT
Options :

92090663737. 1
92090663738. 2



92090663739. 3
92090663740. 4

Question Number : 36 Question Id : 92090616133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Proteins are made up of smaller moelcules called

(1) transfer RNA (2) Nucleotides
(3) Amino acids (4) Hormones
Options :

92090663741. 1
92090663742. 2
92090663743. 3
92090663744. 4

Question Number : 36 Question Id : 92090616133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A Fg A A fpu F e i AT g e?

(1) ofaRd JREAT, @) fFsierzs

@) e e 4) THEEA
Options :

92090663741. 1
92090663742. 2
92090663743. 3
92090663744. 4

Question Number : 37 Question Id : 92090616134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who proposed the theory of Catastrophism?

(1) Cuvier (2) Lamarck
(3) Buffon (4)  Axrchibald

Options :



92090663745. 1
92090663746. 2
92090663747. 3
92090663748. 4

Question Number : 37 Question Id : 92090616134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hegeiihed & Rigid & 9 & 3 f6aa wegd fasan un

(1) PlEaw (2) CTHRG
(3) gBH 4) 3nfbacs
Options :

92090663745. 1
92090663746. 2
92090663747. 3
92090663748. 4

Question Number : 38 Question Id : 92090616135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On the Origin of Species was the greatest work of

(1) Lamarck (2) Linnaeus
(3) Darwin (4) Landsteiner
Options :

92090663749. 1
92090663750. 2
92090663751. 3
92090663752. 4

Question Number : 38 Question Id : 92090616135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



* {1 < SRS SiTe Wi (79 A ¥ fhue! Herad $id iz

(1) dHES ) fo=saw
(3) SIfdA (4) dSER
Options :

92090663749. 1
92090663750. 2
92090663751. 3
92090663752. 4

Question Number : 39 Question Id : 92090616136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

belongs to superfamily Cercopithecoidea.

(1) Orangutan (2) Baboon
(3) Gibbon (4) Capuchin monkey
Options :

92090663753. 1
92090663754. 2
92090663755. 3
92090663756. 4

Question Number : 39 Question Id : 92090616136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

forg o 9 B9 siftgpa I udifirs & defid g2

(1) 3AEH (2) 9

3) firem 4) YA TR
Options :

92090663753. 1
92090663754. 2
92090663755. 3
92090663756. 4



Question Number : 40 Question Id : 92090616137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

was the culture of Neanderthals.

(1) Mousterian (2) Aurignacian
(3) Lower Palaeolithic (4) Indus Valley
Options :

92090663757. 1
92090663758. 2
92090663759. 3
92090663760. 4

Question Number : 40 Question Id : 92090616137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

8 7 1 T As(iEgiyd o1 eid di?

M A (2) Sniafg
(3) 9 g SredH 4) fyard
Options :

92090663757. 1
92090663758. 2
92090663759. 3
92090663760. 4

Question Number : 41 Question Id : 92090616138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the measure of dispersion?

(1) Moaode (2) Range
(3 Median (4) Mean
Options :

92090663761. 1
92090663762. 2



92090663763. 3
92090663764. 4

Question Number : 41 Question Id : 92090616138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 ® 9§ 1 uSivHE &1 A 82

(1) dgad 2
(3)  HIfEEs (4) H"
Options :

92090663761. 1
92090663762. 2
92090663763. 3
92090663764. 4

Question Number : 42 Question Id : 92090616139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Neonatal period is from birth to

(1) 60 days (2) 28 days
(3) 40 days (4) 38 days
Options :

92090663765. 1
92090663766. 2
92090663767. 3
92090663768. 4

Question Number : 42 Question Id : 92090616139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I 3aft] o7 I fhaa &9 a& &1 gidt 82

(1) e0fEm ) 28fe
3) 40f@ @) 3sfea



Options :

92090663765. 1
92090663766. 2
92090663767. 3
92090663768. 4

Question Number : 43 Question Id : 92090616140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mean deviation is measure of

(1) Dispersion (2) Central tendency
(3) Average (4) Association
Options :

92090663769. 1
92090663770. 2
92090663771. 3
92090663772. 4

Question Number : 43 Question Id : 92090616140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

w1 fagem Ry o 9 feaeT A giar 82

(1) usH ) P=gudid
(3) ofd @) UHE
Options :

92090663769. 1
92090663770. 2
92090663771. 3
92090663772. 4

Question Number : 44 Question Id : 92090616141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is an a “ratio” variable or level of measurement?

(1) Height (2) Gender
(3) Economic Status (4) Blood groups
Options :

92090663773. 1
92090663774. 2
92090663775. 3
92090663776. 4

Question Number : 44 Question Id : 92090616141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafifEd ¥ 8 S U U (ratio) IR 34dl A1 &1 &R &7

(1) FEE 2 fem
3) o w&R (4) I UHE
Options :

92090663773. 1
92090663774. 2
92090663775. 3
92090663776. 4

Question Number : 45 Question Id : 92090616142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a parametric test?

(1) Chi-squared test (2) Kruskal Wallis test
(3) Student's t test (4) Mann Whitney U test
Options :

92090663777. 1
92090663778. 2
92090663779. 3
92090663780. 4

Question Number : 45 Question Id : 92090616142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fafefad § 3 o us urafis gl g2

(1) 918 o gdieqo (2) DIUGT ey e
(3) o<t Ui (4) | f&gei u adiem
Options :

92090663777. 1
92090663778. 2
92090663779. 3
92090663780. 4

Question Number : 46 Question Id : 92090616143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous article “ Archaelogical Systematics and The Study of Cultural Processes”
(1965) was written by

(1) Heinrich Schliemann (2) G. Elliot Smith
(3) Lewis R. Binford (4) Emile Durkheim
Options :

92090663781. 1
92090663782. 2
92090663783. 3
92090663784. 4

Question Number : 46 Question Id : 92090616143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

URIg 3T "R aiifd! d Gigiad Ufsharsi &1 sfea-- (1965) Fafarad & 4 feua
feran yr?

(1) gafE wHE (2) of. uferge ey
3)  ofag e, TS (4) Ul gEgH
Options :

92090663781. 1



92090663782. 2
92090663783. 3
92090663784. 4

Question Number : 47 Question Id : 92090616144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tools was not associated with Lower Palaeolithic period?

(1) Chopping (2) Abbevillian Handaxe
(3) Cleaver (4) End Scraper
Options :

92090663785. 1
92090663786. 2
92090663787. 3
92090663788. 4

Question Number : 47 Question Id : 92090616144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & 9 &1 91 SieR 9 gRIaTST S1d 9 Hdifdd et ur

(1) Tdad (2) Usfaferma ary s
(3) Id Pealal (@) 3T fTUNH
Options :

92090663785. 1
92090663786. 2
92090663787. 3
92090663788. 4

Question Number : 48 Question Id : 92090616145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 18 the Perigordian tool type?

(1) Chattelperronean knife (2) Acheulian handaxe
(3) Abbevillian handaxe (4) Cleaver
Options :

92090663789. 1
92090663790. 2
92090663791. 3
92090663792. 4

Question Number : 48 Question Id : 92090616145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 # 9 & UF UPHR &1 TSl $ieR 82

(1) FeaumrifsH e (2) S gYPpealal
(3)  Sfadiel g1y Hegral (4) T Heglal
Options :

92090663789. 1
92090663790. 2
92090663791. 3
92090663792. 4

Question Number : 49 Question Id : 92090616146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The archeological site “Bhimbetka” is located in the state of

(1) Pakistan (2) Guarat
(3) Uttar Pradesh (4) Madhya Pradesh
Options :

92090663793. 1
92090663794. 2
92090663795. 3
92090663796. 4



Question Number : 49 Question Id : 92090616146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ridfae ®d “Hindes! 5 4 9 fea T § eafyd 82

(1 IeH (2) TeRId
(3) Iy (4) AU
Options :

92090663793. 1
92090663794. 2
92090663795. 3
92090663796. 4

Question Number : 50 Question Id : 92090616147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Mesolithic site “Langhnaj”is located in

(1) Pakistan (2) Gujarat
(3) Uttar Pradesh (4) Andhra Pradesh
Options :

92090663797. 1
92090663798. 2
92090663799. 3
92090663800. 4

Question Number : 50 Question Id : 92090616147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AU R dig-rs A9 A § &gl oafRd g2

(1) Ul (2) ORI
(3) IO (4) ST
Options :

92090663797. 1



92090663798. 2
92090663799. 3
92090663800. 4

Question Number : 51 Question Id : 92090616148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Copper hoard culture” is a feature of

(1) Chaleolithic sites (2) Lower Palaeolithic sites
(3) Mesolithic sites (4) Upper Palaeolithic sites
Options :

92090663801. 1
92090663802. 2
92090663803. 3
92090663804. 4

Question Number : 51 Question Id : 92090616148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T EUg Gepia” 1 o 4 e sivaemnr g2

(1) dTHYNI 2) 5 R Rw|
(3)  HEOUMION R (4) I YRIUTHIO] R
Options :

92090663801. 1
92090663802. 2
92090663803. 3
92090663804. 4

Question Number : 52 Question Id : 92090616149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The mount of Mitathal is located in

(1) Haryana (2) Srinagar
(3) Bhopal (4) Chhitorgarh



Options :

92090663805. 1
92090663806. 2
92090663807. 3
92090663808. 4

Question Number : 52 Question Id : 92090616149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HieTyd Arde sl 3Efud g2

(1)  gfamn (2) TR
(3) M@ (4) Frirgmg
Options :

92090663805. 1
92090663806. 2
92090663807. 3
92090663808. 4

Question Number : 53 Question Id : 92090616150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous book The Evolution of Culture (1959) was written by

(1) MecKim Marriot (2) Talcott Parson
(3) Leslie A. White (4) W.H. R Rivers
Options :

92090663809. 1
92090663810. 2
92090663811. 3
92090663812. 4

Question Number : 53 Question Id : 92090616150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UfE g5 g UaIegeH HIh Fear” (1959) B 9 ¥ forea forar ur?

(1) Afer ARkge (2) Twle U
(3) iU ®IEe 4) S Ud. 3R, dad
Options :

92090663809. 1
92090663810. 2
92090663811. 3
92090663812. 4

Question Number : 54 Question Id : 92090616151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pioneer of British Neo-Evolutionary school was

(1) Osear Wilde (2) V.G. Childe
(3) R. Benedict (4) M. Mead
Options :

92090663813. 1
92090663814. 2
92090663815. 3
92090663816. 4

Question Number : 54 Question Id : 92090616151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafeer =a fawraard od & srigd & 42

(1) SR dEeE @) dislasE
(3) SR dHfEEe 4) THHS
Options :

92090663813. 1
92090663814. 2
92090663815. 3
92090663816. 4



Question Number : 55 Question Id : 92090616152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book Kinship and Social Organization (1914) was written by

(1) W.H.R. Rivers (2) R. Benedict
(3) S. Freud (4) M. Srinivas
Options :

92090663817. 1
92090663818. 2
92090663819. 3
92090663820. 4

Question Number : 55 Question Id : 92090616152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iR T8 Hiwa sriHEeRFE” (1914) Qs Fafafed § 9 e fordt 4

(1) =g TER. 5y 2) 9R FfEHw
(3) TUH. WS @) o giHaE
Options :

92090663817. 1
92090663818. 2
92090663819. 3
92090663820. 4

Question Number : 56 Question Id : 92090616153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who among the following was not a supporter of Diffusional School of thought?

(1) W.dJ. Perry (2) R.R. Marett
(3 A.L. Kroeber (1) F. Boas
Options :

92090663821. 1
92090663822. 2



92090663823. 3
92090663824. 4

Question Number : 56 Question Id : 92090616153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 7 9 11 TR faRyRT FSrged Yod S Yie) &1 gl a1 ui?

(1) o o o (2) SRR HARE
(3) UUd. TR (4) UP &0H
Options :

92090663821. 1
92090663822. 2
92090663823. 3
92090663824. 4

Question Number : 57 Question Id : 92090616154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B. Malinowski did his fieldwork on the

(1) Andamanese (2) Nicobarese
(3 Indonesians (4) Trobriand islanders
Options :

92090663825. 1
92090663826. 2
92090663827. 3
92090663828. 4

Question Number : 57 Question Id : 92090616154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 AfeHaws! 3 31U e Ay # ¥ foew ur T ure

(1) 3= fAar 2) FoER Aar
(3) SeMRmE wHe™ (4) TIgNCS gyt



Options :

92090663825. 1
92090663826. 2
92090663827. 3
92090663828. 4

Question Number : 58 Question Id : 92090616155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who explained the paradoxes in relation to culture in his book Man and His Work
(1956)?

(1) Herskovits (2) Kroeber
(3) Morgan (4) Durkheim
Options :

92090663829. 1
92090663830. 2
92090663831. 3
92090663832. 4

Question Number : 58 Question Id : 92090616155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 ¥ A fg ol gds A4 TS fRW db” 1956 H Wehld & ddy # eyl &1 wy
foar ur?

(1) EDidcd (2) TR
3) HrA 4) go3H
Options :

92090663829. 1
92090663830. 2
92090663831. 3
92090663832. 4

Question Number : 59 Question Id : 92090616156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of Tribe-Caste Continuum was given by

(1) M.N. Srinivas (2) K.N. Saraswathy
(3) V.C.Channa (1) Surjeet Sinha
Options :

92090663833. 1
92090663834. 2
92090663835. 3
92090663836. 4

Question Number : 59 Question Id : 92090616156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S-S Sidd® & Sded] 9 # 9 foa dt Az

(1) THEA. T (2) .. HIE
(3) did g (4) geird [
Options :

92090663833. 1
92090663834. 2
92090663835. 3
92090663836. 4

Question Number : 60 Question Id : 92090616157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Caste in Modern India (1962) is the famous work of

(1) M.N. Srinivas (2) K.N. Saraswathy
(3) P. K. Seth (4) A. K. Sinha
Options :

92090663837. 1
92090663838. 2
92090663839. 3
92090663840. 4

Question Number : 60 Question Id : 92090616157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

"B 34 AT8A sfedr (1962) Fa H 4 frw®! ufdig oid 82

(1) AT g Em (2) .U, W&l
(3) Ul®. 48 @) Uud H=
Options :

92090663837. 1
92090663838. 2
92090663839. 3
92090663840. 4

Question Number : 61 Question Id : 92090616158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not true about the charaterstic features of Hindu caste
system?

(1) Innate nature (2) Endogamy
(3) Hierarchy (4) Political conflict
Options :

92090663841. 1
92090663842. 2
92090663843. 3
92090663844. 4

Question Number : 61 Question Id : 92090616158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

feg wifa caaw1 & ARy siftreail & ddu & g # 4 &9 v 9l 78l 82

(1) 3fddlfd Upfd (2) SidfdaE
(3)  HuES! (4) SHIAP g8
Options :

92090663841. 1
92090663842. 2
92090663843. 3
92090663844. 4



Question Number : 62 Question Id : 92090616159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who contributed to the study of National Character?

(1) Vidyarthi (2) Mead
(3 Dube (4) Majumdar
Options :

92090663845. 1
92090663846. 2
92090663847. 3
92090663848. 4

Question Number : 62 Question Id : 92090616159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e aRA & srerae ® fm | 9 foe e faan

(1) foemef 2) Hg
3 gd (4) HYHCER
Options :

92090663845. 1
92090663846. 2
92090663847. 3
92090663848. 4

Question Number : 63 Question Id : 92090616160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The famous book Patterns of Cultire was written by

(1) McKim Marriot (2) Ralph Linton
(3)  R. Benedict (4) M. Mead
Options :

92090663849. 1



92090663850. 2
92090663851. 3
92090663852. 4

Question Number : 63 Question Id : 92090616160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UG gEad “Ue=q 3 HedR” &1 9 1 ¥ fw foran ur

(1) HAfeH ARge (2) e feieq
(3) SR SdfgF (4) UH.HE
Options :

92090663849. 1
92090663850. 2
92090663851. 3
92090663852. 4

Question Number : 64 Question Id : 92090616161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following does not come under the four Purusharthas?

(1) Dharma (2) Ritual
(3) Kama (4) Artha
Options :

92090663853. 1
92090663854. 2
92090663855. 3
92090663856. 4

Question Number : 64 Question Id : 92090616161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g 7 | 19 IR qourd & Sidia e T 87

1) ud 2) HHPIS
(3) &M @) 314



Options :

92090663853. 1
92090663854. 2
92090663855. 3
92090663856. 4

Question Number : 65 Question Id : 92090616162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who described caste as “organic and heirarchical” while tribe as “segmentary and
egalitarian™?

(1) Cora-du-Bois (2) G.P. Murdock
(3) Milton Singer (4) F.G. Bailey
Options :

92090663857. 1
92090663858. 2
92090663859. 3
92090663860. 4

Question Number : 65 Question Id : 92090616162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa & @ feaa oifa &1 “3@udt g Sae” Jafe S9fd &1 “Eeig @ gadERk &
U ¥ quiF fasar ur?

(1) ®RI-g-dZd (2) S #Sied
3) AR @) UESH e
Options :

92090663857. 1
92090663858. 2
92090663859. 3
92090663860. 4

Question Number : 66 Question Id : 92090616163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The concept of Nature-Man-Spirit Complex was given by

(1) L. P. Vidyartha (2) M. N. Srinivas
(3) S. C. Dube (4) A. K. Sinha
Options :

92090663861. 1
92090663862. 2
92090663863. 3
92090663864. 4

Question Number : 66 Question Id : 92090616163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U T-GY-3HTa ARy &1 Fheq1 g & 9 {5 ugd &1 4

(1) A &endf (2) UTHTUA e
(3) ugdHlgd 4) TF. =1
Options :

92090663861. 1
92090663862. 2
92090663863. 3
92090663864. 4

Question Number : 67 Question Id : 92090616164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The dichotomy of surroundings as profane and sacred was proposed by

(1) M. N. Srinivas (2) E. Durkheim
(3) A. Kroeber (4) Karl Marx
Options :

92090663865. 1
92090663866. 2
92090663867. 3
92090663868. 4



Question Number : 67 Question Id : 92090616164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Uide1 & 3(urd 9 ufdA g14 & feHTe ! A9 # ¥ fa uegd fhar ur?

(1)  THTE 9ifFam ) 3.g@sH
(3) U Hua (4) @Te HIEH
Options :

92090663865. 1
92090663866. 2
92090663867. 3
92090663868. 4

Question Number : 68 Question Id : 92090616165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A):  Sickle cell anemia is a non-genetic disease.

Reason (R): Sickle cell anemia is caused by substitution of valine for the normally

present glutamic acid.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

92090663869. 1
92090663870. 2
92090663871. 3
92090663872. 4



Question Number : 68 Question Id : 92090616165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 21 YA 3T U §: U DY (Assertion A) B ®U ¥ faf@d § d gU IUS HRU
(Reason R}ﬁamr ﬁ;

HUPYT A : S DIRADT SR U IR SRS IR 2

HRUIR: S PIRST 3RFAdl YH €Y I IR i 3 & H W AdH &
UfRITI & RO gl 8l

JURI Y & 3fdld H, 419 3w U ol § 9 9698 Iugad IR &1 994 Sifen

(1) ASRRIAITE § R R A DI el AR &

20 ASRREHA GEI g, Ofch R, A BT TS TS G &
(3) AUEE AFTRIGTE

(4 AUGITEIE, ABTRULE

Options :

92090663869. 1
92090663870. 2
92090663871. 3
92090663872. 4

Question Number : 69 Question Id : 92090616166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Tarsiformes are the important link between two sub-orders, i.e.

Prosimii and Anthropoidea.

Reason (R) : There are many features common between the two; for instance, the

presence of post-orbital processes.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 15 not correct

(4) (A) is not correct but (R) is correct

Options :

92090663873. 1
92090663874. 2
92090663875. 3
92090663876. 4

Question Number : 69 Question Id : 92090616166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



419 &1 YA AU U §: UF HNSYA (Assertion A) F FU  H foffdd g ol TR IUF HRUI
(Reason R}%F‘I ff;

AU A - RGBS 1 Iu-moil sufd WfAsns iR wuRfew & €9 & ugay

foi® § |

PFRUIR - 3l & o 3% MfHTLU THE & IEI0 WEY S et ulharsii &1

Jufyfal

IR FY & 3fdld H, 19 3w U ol § 9 968 Iugad IR &1 994 Bifoe

(1)
(2)
(3)
(4)

A 3R R EIF1 el 8 SR R, A B UEl AR ©

A 3R RG] el g, dfch R, A DI Tl RS T8l &
ARSI g AfpTRUE TS &

ATE el 8, AP R WEI §

Options :

92090663873. 1
92090663874. 2
92090663875. 3
92090663876. 4

Question Number : 70 Question Id : 92090616167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : The normal distribution is a symmetrical curve.

Reason (R) : The normal distribution curve is also know as Gaussian curve.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) is not correct

(4) (A) 15 not correct but (R) is correct

Options :

92090663877. 1
92090663878. 2
92090663879. 3
92090663880. 4

Question Number : 70 Question Id : 92090616167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

91 S YA U U §: U SHGY (Assertion A) & U H foff@d g @ TR 39S BRUI
(Reason R) P &Y W

HHBYTA - YHHA s GAHd 9F gl
PRUIR: T sed deb Mg db & w0 | Wt SF1 A1 g1
I HYA & el 1 A i3 o fasedi # 9 9el I &1 994 Hifo

(1) ASRRSH Hel g 3R R A DI TEl ST &

(2) ASIRREH Tl g, AfB R A DI Uel A 7ol &
(3) AWEE AfFTR I TS B

(4) AGEIAEIE, APTRUEIE

Options :



92090663877. 1
92090663878. 2
92090663879. 3
92090663880. 4

Question Number : 71 Question Id : 92090616168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) :  Genetic drift usually happens in small size populations.

Reason (R) : Small population size is more prone to random fluctuations due to

sampling error

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 15 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

Options :

92090663881. 1
92090663882. 2
92090663883. 3
92090663884. 4

Question Number : 71 Question Id : 92090616168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ha g1 oy fou U §: U SifUHYA (Assertion A) B ®U ¥ fifad § ol GERT IUH HRUI
(Reason R}%F‘I ff;

AMBYT A : AP 3UATE M IR R BT DR P s-8Emsi § gar g

PRUIR BIe SFHET AHR Ufd=adq Fedl & SR gefsd IW-dgd & SiiD
PELEEGE

SURIF FYF & 3Tt |, < 37U 0 fawedl # ¥ ¥l IR &1 949 DI

(1) ASIRRGHI T8l g 3R R A DI el ARAT §

2) ASRRIAIGEE AfFIR AP TS A AT @
(3) ATEE AT RO AL

(4) AFEITel g, AP R UG €

Options :

92090663881. 1
92090663882. 2
92090663883. 3
92090663884. 4

Question Number : 72 Question Id : 92090616169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) : Linkage is the relationship between two alleles located on different

chromosomes.

Reason (R) : Linked genes avoid crossing over.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) 1s correct

Options :

92090663885. 1
92090663886. 2
92090663887. 3
92090663888. 4

Question Number : 72 Question Id : 92090616169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4119 1 YA AU U §: U SiNSY (Assertion A) F FU  H foifed § @ TR ITF HRUI
(Reason R}a'TF'I[ ff;

HUFYA A - TEaddl IHF TURET W HafRyd €1 Ggaiitl (3fcfteot) & & &1 Hay gl 8
PRUIR - Head oA faf g &1 ufver 3t 81
IWIad YA & 3Mdld |, A" f3u 70 fawedi 1 9 el I &1 994 B

(1)
(2)
(3)
(4)

A 3R R EIF1 el 8 3R R, A S WEl AT &

A 3R R G U8l &, AT R, A DI el TS 16l &
AUS B dfPTREE TET &

A Wl TET 8, AfF R W &

Options :

92090663885. 1
92090663886. 2
92090663887. 3
92090663888. 4

Question Number : 73 Question Id : 92090616170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion (A) :  Brachiation is a mode of locomotion among the Gibbons.

Reason (R) : Extremely elongated fingers and shortened thumb in Gibbons help in

brachiation.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both (A) and (R) are correct and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) is correct but (R) 15 not correct

(4) (A) is not correct but (R) is correct

Options :

92090663889. 1
92090663890. 2
92090663891. 3
92090663892. 4

Question Number : 73 Question Id : 92090616170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



419 9 Ty U U §: U NS Y (Assertion A) F FU  H foff@d g @ TR ITF SR
(Reason R) P &Y W

ANPYT A - ] & argmee 9 &1 e gl 81
HRUIR: a1 o ofcaftie ddl siiferal @ B¢ oS agTH- & 98 gid o |
IURIdd HYH & 3Mdid H, g i3 e fabedi & 9 9el IR &1 994 Fifore

(1)  ASRRIAI TSI § 3R R, A P e AR B

2 ASRRIHAIHEl §, dfch R, A DI el AR T8l &
(3) AWEIE APARUS S S

(4 AUPITElE, AfBTRAEE

Options :

92090663889. 1
92090663890. 2
92090663891. 3
92090663892. 4

Question Number : 74 Question Id : 92090616171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(GGiven below are two statements: One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion (A) :  Negative bulb of percussion is present on core.

Reason (R) : Positive bulb of percussion is present on flakes.

In the light of the above statements, choose the most appropriate answer from the
options given helow :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct



Options :

92090663893. 1
92090663894. 2
92090663895. 3
92090663896. 4

Question Number : 74 Question Id : 92090616171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

#a & YA 3T TN B U SHIUDBUA (Assertion A) B T H faf@d & @ gUA IUD BRUI
(Reason R}%F‘J ff;

HUBUT A - STHd BT BUNHSD dod g W IURYT AT g
PRUIR - 3T P Y RIHS ded Yo I JURYA ST 8|
SWIF Y & 3fclid H g i3 e fasedi d 9 9el I &1 994 Hifo

(1)  ASIRRTHITEl g SR R A DI gl ARAT §

@  ASRREHIHEl 8, dfd R, A DI & ARAT el &
(3) AU E AMFTRIATH T

(4 AUGITElE, AfBTR UL

Options :

92090663893. 1
92090663894. 2
92090663895. 3
92090663896. 4

Question Number : 75 Question Id : 92090616172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Carbon-14 is an absolute dating technique.

Statement [  :  Fluorine analysis 15 a relative dating technique.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement 1 is false but Statement 11 is true

Options :

92090663897. 1
92090663898. 2
92090663899. 3
92090663900. 4

Question Number : 75 Question Id : 92090616172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QY Py R E:

HY | Bl 14 T (AR08 ST FAuRo aa-ia g1

HUF | - I3 Ao U el w1 FuiRor as-ie g

JURIH HY= & 3Teires H, 41 fou e fawedt # 9 98t I o1 994 Sifon

(1) YIRS gl &
)  HYF 1SR 1 EFT TTAd §
(3) Y| el 8, AipA Y | Tad &
(4) HYF | g, dfb HYF 11 TS B



Options :

92090663897. 1
92090663898. 2
92090663899. 3
92090663900. 4

Question Number : 76 Question Id : 92090616173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Introns are segments of gene that are involved in protein
synthesis.
Statement II  : Exons are segments of gene that are transcribed and involved in

protein synthesis.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement I1 is false

(4) Statement I 1s false but Statement Il is true

Options :

92090663901. 1
92090663902. 2
92090663903. 3
92090663904. 4

Question Number : 76 Question Id : 92090616173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIERACAIE A TR LR

BY | - Fo oA & WS Bld § Ol WICH TNl 7 S gid 81

DY || : T SiF & WS Bl & ol SAfeiad gid ¢ d Wiei auu) § Sfcidwd gid g
IR HYF & 3l |, 91 iy M 9t 7 ¥ gt I &1 994 o

(1) Y1 SR 1A el &
(2) @Y1 3R 1 EH Tad €
(3) YT TS B, AP HYA 1 TTad B
(4) @Y1 TTAd 8, Wichd U1 Tel &

Options :

92090663901. 1
92090663902. 2
92090663903. 3
92090663904. 4

Question Number : 77 Question Id : 92090616174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement | :  Man belongs to the order Primates.
Statement 11 :  Man belongs to the suborder Anthropoidea.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement II is false

(4) Statement 1 is false but Statement I is true

Options :
92090663905. 1



92090663906. 2
92090663907. 3
92090663908. 4

Question Number : 77 Question Id : 92090616174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FuARUTE:
HY | JOY UIEHe 707§ Hefia g

HYA 11 - T U TRAGETEAT § Haidd B
IURIFd HYF & 3fdlid H g fSu e fasedi | 9 "al 39 &1 994 Hifold

1) BYF 1 3R 1 A e §
)  PYUAI SR 1 EF TTad §
(3)  ®YA1 el g, Afchd HYA 11 TTed &
@) YA TAd 8, Al HY || T8l §

Options :

92090663905. 1
92090663906. 2
92090663907. 3
92090663908. 4

Question Number : 78 Question Id : 92090616175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Linea aspera is present on femur bone.

Statement 11 : Femur bone is also know as os innominatum.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ 1s true but Statement 11 is false

(4) Statement [ is false but Statement I is true

Options :

92090663909. 1
92090663910. 2
92090663911. 3
92090663912. 4

Question Number : 78 Question Id : 92090616175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i gl vy iRy e &

HY | - 3P T e Y R Bl B

YT 11 H AR BT 3G FABEH & E H Wi SHE S8

IR HY & 3aid H, 713 fGu 0 fapedl § 9 969 Iugad IR &1 994 Siford:

(1)  BYTISR IS L §
)  PYA1 SR 1 TTEd §
(3) ®YF| el &, Wb HYA || Tad &
(4)  PYF | TTAd ©, b HYT 1l Hel ©

Options :
92090663909. 1



92090663910. 2
92090663911. 3
92090663912. 4

Question Number : 79 Question Id : 92090616176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | . The earliest of the East African Homo erectus were found in East
Turkana.
Statement I :  The earliest of the Australopithecus were found in Germany.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false
(4) Statement 1 is false but Statement I is true

Options :

92090663913. 1
92090663914. 2
92090663915. 3
92090663916. 4

Question Number : 79 Question Id : 92090616176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Py RuMu E:

HUF | - Faie RIS gdi npie! gl S3ded gdl gbi1 3 Ui 7Y 3|

HY || - AP RIS ey s 7 ar e 4|

SWRIGd By & Aaid |, A9 ST 7 faded # F Fa¥ Iugad IR & 99 Bifoid:

(1) BYF 1 3R 1A TS §
)  BYF ISR 1 EF TTad §
(3) Y| YE g, dfbA HYA 11 TTeid ©
(4) YA | T §, Alh HYE || TEl ©

Options :

92090663913. 1
92090663914. 2
92090663915. 3
92090663916. 4

Question Number : 80 Question Id : 92090616177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Dock is an important feature of the Indus Valley Civihization

found at site Lothal.

Statement I : The site Kalibangan is located in the district of Ganganagar,

Rajasthan.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I1 are false
(3) Statement [ is true but Statement II is false

(4) Statement I 1s false but Statement Il 1s true

Options :

92090663917. 1
92090663918. 2
92090663919. 3
92090663920. 4

Question Number : 80 Question Id : 92090616177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Py RUMUE:

HU | - Ty e UR T T T (@) Rity 9Tt 9 1 U Aeayqu! Sfiar 2|
HYA || : BTeaT Rd A6H & TR foret 7 safud g1

IR HYF F 3Teles H, 1 iU 0 [9bel 7 3 gad Iuged IR &1 994 SIfol:

(1) @Y1 3R I SF 9gl €
(2)  ®YA ISR 11 SFT TTAd &
(3) @Y | HEl g, dih HY 11 TTeld ©
(4) @Y1 TTAd g, dichd HYF 11 G8l §

Options :

92090663917. 1
92090663918. 2
92090663919. 3
92090663920. 4

Question Number : 81 Question Id : 92090616178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :
Statement [ :  The cranial capacity of humans ranges from 1150 to 1750 em?®.
Statement II  : The cramial capacity of chimpanzee ranges from 285 to 500 em?.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement I are false
(3) Statement [ is true but Statement 11 is false

(4) Statement 1 is false but Statement I is true

Options :
92090663921. 1



92090663922. 2
92090663923. 3
92090663924. 4

Question Number : 81 Question Id : 92090616178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

13 3 YA lRu e §:

®YA | TSI B HUT &HAT 1150 F 1750 cm? 1 ¥61 | gl g |

&Y 11 : fRiuisl & HuTd &Fdl 285 ¥ 500 cm® &1 ¥ H gl €1

IR HYA & 3fdld H, 14 fGU U fabadl § 9 969 Iugdd IR &1 9494 Sifod:

(1)  ®YTISR I GAT el §
2)  ®YFI1 SR 1 EH Tad €
(3) YT e, Al Sy 11 TTad &
(4)  ®YF| 6 g, e HYA I TE 8

Options :

92090663921. 1
92090663922. 2
92090663923. 3
92090663924. 4

Question Number : 82 Question Id : 92090616179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(Given below are two statements -

Statement [ : Iliac blades are present on pelvic girdle.

Statement [I  :  Acetabulum is present on pelvic gridle.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement I and Statement I are false
(3) Statement [ is true but Statement Il is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663925. 1
92090663926. 2
92090663927. 3
92090663928. 4

Question Number : 82 Question Id : 92090616179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIERACAIE AT IR

&Y | : fRIs® Bad Hiftr 96 W Ut 9 B

HYF | : THSTgH 4101 9 IR UIU o §1

SR HY & Haid |, A1 U 7 fawedi 7 3 98 Iugdd Itk &1 997 Hifeid:
(1) @Y1 3R 1A Tel §

)  BYF 1SR 1 SFI Tad §

3) SUTIYsle, AP DY TTad §
(4) PYTITAd g, Al YT I TET §
Options :

92090663925. 1
92090663926. 2



92090663927. 3
92090663928. 4

Question Number : 83 Question Id : 92090616180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Pedigrees cannot used for studying inheritance pattern.

Statement I  : Pedigrees can only be taken from nuclear family.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but Statement 11 is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663929. 1
92090663930. 2
92090663931. 3
92090663932. 4

Question Number : 83 Question Id : 92090616180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fRAFyARRuUE:
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- gumTfd e & 3ieaya & fore dunadt &1 wanT A8 fear o gedr g1
. ATl &1 A Jd-$ed 9 81 ol off Sdhdl g

JURIE YA & 3ficils H, 1= f3u 70 faw el # 9 998 Iuge IR &1 994 Hifore:

(1)
(2)
(3)
(4)

HYF | R 1 S Tel &
HYF 1 R 11 ST TTAd ©
HYF | GEl ¢, AP Y 11 TTad &
HY | 7T 8, Afp U || TET §

Options :

92090663929. 1
92090663930. 2
92090663931. 3
92090663932. 4

Question
Question

Number : 84 Question Id : 92090616181 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  The earliest stone tools are pebble tools.

Statement [I  : Blade tools were common in Upper Palaeolithic period.

In the

light of the above statements, choose the correct answer from the options given

below :

(1)
(2)
(3)

(4)

Options :

Both Statement I and Statement I1 are true

Both Statement [ and Statement Il are false

Statement [ is true but Statement I1 is false

Statement [ is false but Statement Il is true



92090663933. 1
92090663934. 2
92090663935. 3
92090663936. 4

Question Number : 84 Question Id : 92090616181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RA s RTME:

HY | : HRS TR NER e $foR 41

HUF || - I QU] HTd H B SR dH= 4|

IR FYF & 3fdid |, 11 fGu U fasedl § 9 999 Iugad IR &1 944 Difol:

(1) YT SR 1 SAT I8 &
(2) @Y1 3R EH Tad €
(3) BYF | Tl g, Afed HYF 11 TTed @
(4) Y| TAd 8, AP BT 1| Tl &

Options :

92090663933. 1
92090663934. 2
92090663935. 3
92090663936. 4

Question Number : 85 Question Id : 92090616182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ :  Xpgis a blood group system.

Statement I  : Kell is a blood group system.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement | and Statement 11 are false
(3) Statement [ is true but Statement I1 is false

(4) Statement I 1s false but Statement Il 1s true

Options :

92090663937. 1
92090663938. 2
92090663939. 3
92090663940. 4

Question Number : 85 Question Id : 92090616182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 q HyA MU E:

HUF | : Xg U Iad g UUITel! B

HUF 1 : B (Kell) U T HHE YU & |

SRR FYA & 3MTeile H, T f3U 7 fasseul & ¥ 999 Iuged IR &1 99 HIf:

(1) YA SRS el §
)  HYA 1SR 1 TTad §
(3) ®YA| Fal g, Withd YA Il T &
(4) HY | TTed B, Afcbd S 11 IS B

Options :
92090663937. 1



92090663938. 2
92090663939. 3
92090663940. 4

Question Number : 86 Question Id : 92090616183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ :  Culture is uniquely human.

Statement [  : Culture is naturally inherited from one generation to another.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement 11 is true

Options :

92090663941. 1
92090663942. 2
92090663943. 3
92090663944. 4

Question Number : 86 Question Id : 92090616183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e d sy Gy §:

HUT | - A FT FY A A B |

HYF || G¥Pld T UGt T gl digl a wrHifds &9 | d2mTd gt g

SURIE $YF & 3fTeiier H, A 30 70 fawedl # ¥ ¥ad Jugad IR &1 994 Difore:

(1) BYF 1 3R 1 e B
(2) YA SR 1 SF TTAd §
(3) Y| Tl g, dicb HY 11 TTed &
(4) Y| TTAd §, e FYF 11 9T 8

Options :

92090663941. 1
92090663942. 2
92090663943. 3
92090663944. 4

Question Number : 87 Question Id : 92090616184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement [ ¢ (Gaddi is a pastoral community.
Statement II  : Santhal is a pastoral community.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement I and Statement Il are true
(2) Both Statement [ and Statement I1 are false
(3 Statement [ 1s true but Statement I1 is false

(4) Statement [ is false but Statement Il is true

Options :
92090663945. 1



92090663946. 2
92090663947. 3
92090663948. 4

Question Number : 87 Question Id : 92090616184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R FYE UM E:
HYF | : T ULIRS TS B

HYF | - GUTd IRERS TS B
JURI YA & 3ffeites #, 12 fGU 70 fawseul # 9 98 Iuge IR &1 994 Fifore:

(1) YT RS GG &
2)  HYA SR 1S TTad §
(3) Py 9l g, Afchd HYA 11 7Tad &
(4) YA | A 8, Aih Y || Tel &

Options :

92090663945. 1
92090663946. 2
92090663947. 3
92090663948. 4

Question Number : 88 Question Id : 92090616185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech List I with List I1:

List I - Fossils List II - Characteristics
(A) Palaeolithic period () Barbarism
(B) Neolithie period (IT) Savagery
(C) Copper Age (ITI) Higher Barbarism
(D) Early Bronze Age (IV) Civilization

Choose the correct answer from the options given below :

(1) (-1, (B)-(II), (C)-(IV), (D)-(I)
(2)  (A)-D, (B)-(1D), (C)-(I), (D)-IV)
(3)  (A-ID), (B)-(D), (C)-(IL), (D)-IV)
(4)  (A)-(IV), B)-(D), (C)-(II), (D)-(ILI)

Options :

92090663949. 1
92090663950. 2
92090663951. 3
92090663952. 4

Question Number : 88 Question Id : 92090616185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it | o Ty gt 1) T e Sifeg

-1 (Siarem) -1 (SEO)
(A) ORI UTHTU] ST () el
(8) 1 UTNIU] BT (y I
(€ dHETI iy IR FeRdl
(D) RIS B I (V) EWdr
i fgu U fahedl § € 9l IO &1 98 ST

(1) (A)-(I), (B)-(1), (C)-(1V), (D)-(I)

(2) (A)-(1), (B)-(1D), (C)-(1), (D)-(IV)
(3) (A)-(I1), (B)-(1), (C)-(1), (D)-(1IV)
(4) (A)-(1V), (B)-(1), (C)-(11), (D)-(H1)

Options :
92090663949. 1



92090663950. 2
92090663951. 3
92090663952. 4

Question Number : 89 Question Id : 92090616186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following can disturb genotypic proportions under Hardy-Weinberg
equilibrium?

(A) Natural selection

(B) Mendelian population

(C) Random mating

(D) Consanguinity

(E)  Assortive mating

Choose the correct answer from the options given below :

(1) A Dand E
(2) B,Cand D
(3) C,Dand E
(4) A CandD

Options :

92090663953. 1
92090663954. 2
92090663955. 3
92090663956. 4

Question Number : 89 Question Id : 92090616186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



eIST 3 e & ot Y § | S-S ST FHUT S fdas R 96 o7
Urepfdies 9o

BEEGIURCE e

grefas® |H

Udholdl

E.  3Uggl TH

=19 fou e faspeul 7 9 Tl IR &1 997 Sl -

(1) o&dd A DE
() &4dd B,C,D
(3) @&dd C,D,E
(4 &dd A CD

@ & = e

Options :

92090663953. 1
92090663954. 2
92090663955. 3
92090663956. 4

Question Number : 90 Question Id : 92090616187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are glacial periods of Middle Pleistocene?

(A) Riss
(B) Wurm
(C)  Gunj
(D) Mindel

Choose the correct answer from the options given below :

(1) BandD

(2) Band C

(3) Aand D

(4) Aand C
Options :

92090663957 1



92090663958. 2
92090663959. 3
92090663960. 4

Question Number : 90 Question Id : 92090616187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 T ¥ SH-51F A dd-Id" HId & U Hed 87
A R

B. T
c
D. fHEw
< feu U fasedt # ¥ Tel IR &1 =904 Fifon

(1) &dd A 3R B
(2) @&dd B3R C
(3) dd ASIRD
(4) dd A3IRC

Options :

92090663957. 1
92090663958. 2
92090663959. 3
92090663960. 4

Question Number : 91 Question Id : 92090616188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are the ethnical period defined by L. H. Morgan?
(A) Savagery

(B) Barbarism

(C) Civilization

(D)  Urbanization

(E) Delocalization

Choose the correct answer from the options given below :
(1) C,Dand E

(2) A BandC

(3 A Dand E

(4) Aand C

Options :

92090663961. 1
92090663962. 2
92090663963. 3
92090663964. 4

Question Number : 91 Question Id : 92090616188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9§ ¥ BF-B1 A Sdd-Id- HId & GHl Hed g2
A =

B. T

C. ™

D. fHga

14 AU U fdehedl # 9 Wl IR &1 9 Fifeie -

(1) &dd A3RB
(2) &dd BSRC
(3) &dd ASRD
(4) A A3ARC
Options :

92090663961. 1
92090663962. 2



92090663963. 3
92090663964. 4

Question Number : 92 Question Id : 92090616189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a tribe of Rajasthan?

(1) Bhil (2) Meena
(3) Rabari {4) Gond
Options :

92090663965. 1
92090663966. 2
92090663967. 3
92090663968. 4

Question Number : 92 Question Id : 92090616189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FafifEad & ¥ $1F IoRHE $ UF oW T8l 67

(1) Hid ) wom
(3) &EH @) TS
Options :

92090663965. 1
92090663966. 2
92090663967. 3
92090663968. 4

Question Number : 93 Question Id : 92090616190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tribes is a matrilineal society?

(1) Bhil (2) Santhal
(3) Khasi (4) Gond



Options :

92090663969. 1
92090663970. 2
92090663971. 3
92090663972. 4

Question Number : 93 Question Id : 92090616190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g # | &1 bt SFeia te Argasita e g2

(1) i (2) Hurd
(3) @Rt 4) TS
Options :

92090663969. 1
92090663970. 2
92090663971. 3
92090663972. 4

Question Number : 94 Question Id : 92090616191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian Constitution is a safeguard for educational and economic
interests of the weaker sections of the society and, in particular, of the Scheduled
Castes and Scheduled Tribes?

(1) Article 46 (2) Article 21
(3)  Article 48 (4) Article 10
Options :

92090663973. 1
92090663974. 2
92090663975. 3
92090663976. 4

Question Number : 94 Question Id : 92090616191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



YRATY Hi3u™ 1 F9 & § &1 91 siwbe GUe & SR dadi, [9Y S gfad sfad
9 gfad SAentadl, & A g snfiie fBal & gream dwar a2

(1) 34 46 (2) 3I=8g 21
(3) FI®q 48 (4) 3I%8G 10
Options :

92090663973. 1
92090663974. 2
92090663975. 3
92090663976. 4

Question Number : 95 Question Id : 92090616192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which article of the Indian Constitution is a safeguard for the right to conserve
distinet language, seript or culture?

(1)  Article 350 (2) Article 21
(3)  Article 340 (4) Article 05
Options :

92090663977. 1
92090663978. 2
92090663979. 3
92090663980. 4

Question Number : 95 Question Id : 92090616192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YRarg HfauE &1 Fg 3§ &F 91 s wse Ay yme, fft sryar desfa & WRem & Siier
B Y& Bl 87

(1)  3J=< 350 @) Sf=e 21
(3)  3ITa9¢ 340 (4) Sff=8q 5
Options :

92090663977. 1
92090663978. 2
92090663979. 3
92090663980. 4



Question Number : 96 Question Id : 92090616193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The role of Energy was central in the theory given by

(1) Morgan (2) Kroeber
(3) White (4) Tylor
Options :

92090663981. 1
92090663982. 2
92090663983. 3
92090663984. 4

Question Number : 96 Question Id : 92090616193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafofaa 7 9 fhad grR1 v Rigia # ol 31 =T i di?

(1) #AFE 2)
(3) ®Igc (4) <Clgel
Options :

92090663981. 1
92090663982. 2
92090663983. 3
92090663984. 4

Question Number : 97 Question Id : 92090616194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book Argonauts of Western Pacific was written by

(1) Marriot (2) Malinowski
(3) Maine (4) Marton
Options :

92090663985. 1



92090663986. 2
92090663987. 3
92090663988. 4

Question Number : 97 Question Id : 92090616194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“3TATEY 31 d%e URifthe qxde &1 Fy o 9 fewa forar ur?

(1) ARge (2) HAfeEwEs!
(3) WA (4) HIEA
Options :

92090663985. 1
92090663986. 2
92090663987. 3
92090663988. 4

Question Number : 98 Question Id : 92090616195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The twin processes of Universalization and were given by Marriot.
(1) Parochialization (2) Urbanization
(3) Globalization (4) Westernization

Options :

92090663989. 1
92090663990. 2
92090663991. 3
92090663992. 4

Question Number : 98 Question Id : 92090616195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Afvge 9 e g P g1 ufehama & ot

(1)  Hebouldaresu (2) el
(3)  asftevu (4) i
Options :

92090663989. 1
92090663990. 2
92090663991. 3
92090663992. 4

Question Number : 99 Question Id : 92090616196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many particularly vulnerable tribal groups (PVTGs) are present in India?

(1) 75 (2) 85
(3) 95 (1) 65
Options :

92090663993. 1
92090663994. 2
92090663995. 3
92090663996. 4

Question Number : 99 Question Id : 92090616196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR H fobaH fa9y w0 | sRiga s=enfa w5g (dt 4t & o) faemm €7

(1) 15 (2) 85
(3) 95 (4) 65
Options :

92090663993. 1
92090663994. 2
92090663995. 3
92090663996. 4



Question Number : 100 Question Id : 92090616197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ghotul is a type of

(1) Ritual (2) Marriage
(3) Dormitory (4) Economic Exchange
Options :

92090663997. 1
92090663998. 2
92090663999. 3
92090664000. 4

Question Number : 100 Question Id : 92090616197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

died 9 1 3§ fas! UeR 82

(1) HHSIS (2) faare

(3) HHg YEANTR 4) sid® fafng
Options :

92090663997. 1
92090663998. 2
92090663999. 3
92090664000. 4



